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UPSC MAINS 2019

Civil Service (Main) Examination

General Studies-Ill sm=r semm (Grea—u= 1I0)
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(Please read each of the following instructions carefully before attempting questions)

There are TWENTY questions printed both in HINDI and in ENGLISH.
all questions are compulsory.
the number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be stated clearly on
the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No marks will be given for
answers written in a medium other than the authorized one.

Answers to Question Nos. 1 to 10 should be in 150 words, whereas answers to Question Nos. 11 to 20 should be
in 250 words.

Word limit in question should be adhered to.
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Any page or portion of the page left blank in the Question-cum-Answer Booklet must be clearly struck off.

1. I UL TR DI RASY S R H g Ud |aT IR (SlloyHoclo) H HAfHAferd fy U 8| 9Ra #
TelTg 2017 9 fharfad Sioudodio & o FHfgareil oR 41 fewofl Sy | (TR 150 Tl | IT9)

Enumerate the indirect taxes which have been subsumed in the Goods and Services Tax (GST) in India.
Also, comment on the revenue implications of the GST introduced in India since July 2017.

(Answer in 150 words) 10

2 FIT MY 39 Ad ¥ Fgqd 2 b Fdhal BXe] SR (SHolotlo) &1 il wafg dor =1 germifa @
PRUT RO NdTawer et RAfT # & ? U adi & G9dd § HRUT IR |
(TR 150 TRl # IIQ)

Do you agree with the view that steady GDP growth and low inflation have left the Indian economy in
good shape? Give reasons in support of your arguments. (Answer in 150 words) 10

3. Tdhldhd BT YUl (@MTgoThoTdo) fha WAl dd HY IUTed B FIIRT & § FEd © ?
(TR 150 TT&l | <IfTY)
How far is the Integrated Farming System (IFS) helpful in sustaining agricultural production?

(Answer in 150 words) 10
4. Se—yfadierd &3l 9 R I H ghg PR H TSR STo—[a9IoTd IRATSTT & YA Bl FIaRIR

W BT | (STR 150 Ta} H <)

Elaborate on the impact of the National Watershed Project in increasing agricultural production from

water-stressed areas. (Answer in 150 words) 10
5. Sl SOl iR e & &3 # Her W Ho fawdwavan &R Sfo THoTHo WHHRM &
ARSI IRA BT fhd YHR o™ ugar o ? (STR 150 el # <)

How was India benefitted from the contributions of Sir M.Visvesvaraya and Dr. M. S. Swaminathan in

the fields of water engineering and agricultural science respectively? (Answer in 150 words) 10

6. TR BT IUAT T BT JARET Dg YT B I T ol & 3R SR faRe] dRIpH &l I8 fd
UHR S IgaATgIT ? (SR 150 ¥r&l # IRI)

What is India’s plan to have its own space station and how will it benefit our space programme?
(Answer in 150 words) 10

7. AT 91 @9, TR 98 I B AT AU B, TAR YATARYT & AW Fa9 98 IRl § ¥ U 2 | IRAN
dqei W 8 I dIe] G & 919 &1, fafire IeTeRvll &1 garell <d gy, faweryor aiforg |
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(TR 150 Treai # <IR)

Coastal sand mining, whether legal or illegal, poses one of the biggest threats to our environment.
Analyze the impact of sand mining along the Indian coasts, citing specific examples.
(Answer in 150 words) 10

YT y¥mEl 3R AR & oy I9d @aX &l aRaIvd -1 & oIy werdT U icrawdd o<d o |
uersll & it wedl @ {69 geR AR fba—{ba el & e aRF—[—E0r fhar o1 dhar 87
UG & WeH # HerdT & fafie UaRl W) =@i S | (STR 150 Tl # IIY)
Vulnerability is an essential element for defining disaster impacts and its threat to people. How and in
what ways can vulnerability to disasters be characterized? Discuss different types of vulnerability with

reference to disasters. (Answer in 150 words) 10

T SR PHER H THA—U—S¥M TR UES] RTM W SfTdddral |eHdl Pl WEIdl ugard
IA—SuR driwaRil @osogsyo) & YHdT &M &1 dx a9 TS | SUd (F9rdaq) yfaa et #
ARG TSl DI FeIdl Uga H YA—IUR driwdiel gRT 418 ST 81 e &1 e
BHITY | YH-SUR Frdwdtel & yqa & emfad &= & Ul &1 F=af Sy |

(TR 150 Treai # <IRIY)

The banning of ‘Jamaat-e — islaami’ in Jammu and Kashmir brought into focus the role of over-ground
workers (OGWs) in assisting terrorist organizations. Examine the role played by OGWs in assisting
terrorist organizations in insurgency affected areas. Discuss measures to neutralize the influence of
OGWs. (Answer in 150 words) 10

ATgaRe™ URIATGHT T & ? W HIY fh IRd § gex-ic R & 3 o9 # I8 59 yoR
ITARTT B FhaT 7 | (SR 150 ¥r&l # €IROT)

What is the Cyber Dome Project? Explain how it can be useful in controlling internet crimes in India.
(Answer in 150 words) 10

Jg do foar S 7 6 wweel dgfg @ OFIT BT e Ud 1Y FHEARMET iR gRuar &
Iedl BT UK fhar ST & | 39 HF W fewel SIfg | (STR 250 T=T

<fem)

It is argued that the strategy of inclusive growth is intended to meet the objectives of inclusiveness and

sustainability together. Comment on this statement. (Answer in 250 words) 15
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FTIR—SSRIBRY AT & SRM, doic A0 & Wed H, ol I Jaud YRd WRAR & IHe] U
AN B | THBT WE B | (ST 250 wreal # )

The public expenditure management is a challenge to the government of India in the context of budget-

making during the post-liberalization period. Clarify it. (Answer in 250 words) 15

TS AR Yorell @l 1fds g9TEl a9 8 VPR §RT DII—bIF I JURHS HaH SO Y 8 ?

(SR 250 ¥l # <IRM)
What are the reformative steps taken by the government to make food grain distribution system more
effective? (Answer in 250 words) 15
e AR 8Fd DI ANl & FHRM 8 YR GRBR §RT AUATS g I Bl AR T
BHIFTY | (TR 250 ¥l # EIRTY)
Elaborate on the policy taken by the government of India to meet the challenges of the food processing
sector. (Answer in 250 words) 15
49T BUEl & §RT A & URURS S Bl USe BRI H R ARPR [HH JHR &l IR
B2 ? (STR 250 &Rl # <IRY)

How is the government of India protecting traditional knowledge of medicine from patenting by

pharmaceutical companies? (Answer in 250 words) 15

Al & SiaT 9dl Bl Sad BRI B foT¢ Og UeElffTa! fhd YeR Teradl o Iadl § 2
(STR 250 Treai # EIRY)

How can biotechnology help to improve the living standards of farmers?
(Answer in 250 words) 15

TITaRYT ¥ Hefea uRReIfde 05 @1 98 &l B Hheddl bl URETYT SITT | T Hiforg e fadr
UeY @ QEgart [IeN (WRedd SdagHe) @ Aol 99 I8 §9 Adheddl bl FHsH fow
YR HETaqol 2 | (ST 250 wreal # SIfY)

Define the concept of carrying capacity of an ecosystem as relevant to an environment. Explain how
understanding this concept is vital while planning for sustainable development of a region.
(Answer in 250 words) 15
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el 1 MU= wdes UshH H SMUST INI Ugell HeH BIAT © | qRIGH & AMc H, W< P &
Hhe e AMRE fd UBR ATUST ASTH H AGG BT | (STR 250 Treai # EIRY)

Disaster preparedness is the first step in any disaster management process. Explain how hazard zonation

mapping will help disaster mitigation in the case of landslides. (Answer in 250 words) 15

ART WRBR - 8 & H [Afdfdeg fhareary (Faron) sifaffa| (Zoodlovo), 1967 R UHodMgolo
AT & HeEE & §RT SMA®Hac—Rl Sl & Aclqd dx QAT 2| AFag®dR Haea gR
fafafaeg fhammarn (fFarv) fRfam o1 R o7 @ TR IR SR W) T4l &Rd F9I adHe
gReTT uRaAY & Hed #, RadHt &1 faveryor HIR | (SR 250 T} # M)

The Indian government has recently strengthened the anti-terrorism laws by amending the unlawful
activities (Prevention) Act (UAPA), 1967 and the NIA Act. Analyze the changes in the context of
prevailing security environment while discussing the scope and reasons for opposing the UAPA by

human rights organizations. (Answer in 250 words) 15

IR—YA] IR H ITATIT B A S ARUR AEMSE], AT B YRET & A 3 gRef
AT # ¥ $Had U 2| IRI—FIFR W & IMRUR 99 § IR¥ BF aren fafis gy &
URIETOT BT | A1 B AR BT UfcRIY R & daAl IR Il PIfoY | (IR 250 sl | SIf)

Cross-border movement of insurgents is only one of the several security challenges facing the policing
of the border in North-East India. Examine the various challenges currently emanating across the India-

Myanmar border. Also, discuss the steps to counter the challenges. (Answer in 250 words) 15
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